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LX=1(1) vesax=[x]. Ve M, = 897900. Nmm
= 18
=(b) VEI = b/EI e
. y u,= -3.mm
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L% =[(1 -2 xb + xb* ) b* VEI dx = [ x - b +1/3 x°/b? ] b? 1/E3 yo= 352mm
=(b-b+1/3b) b*1/EJ = 1/3 bYEJ u $ - 21521537!\’1l
LX=(1) b2 vEI dx = [ x] b7 1/E3 M. = 1854600, N
=(b) b’ 1/EI = bYEJ ﬁmz 1:gnnq1
L¥=[(1) b2 vEI dx = [ x ] b? 1/ED ’ | Vo = -35.2mm 2
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L= [ (5m? ) b? 1EI dx = [1/3 b2 ] b 1/E Jo .= 178 Nimm®
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b -54
L% = [() b? 1EI dx = [13 07 ] b2 1/E A= 1116. mm’
o o 4
- 2 Cm g J, = 278254. mm
=(1/3b) b* 1/EJ = 1/3 bYEJ b J,= 125712, mm"*
L% =[(1 -2 xb + xb* ) b* VEI dx = [ x - b +1/3 x°/b? ] b? 1/E3 14 / Yy = 356mm
T,=-7070. N
=(b-b+ 2 _ 3 d y
(b-b+1/3b)b 1/EJb 1/3 b%EJ M, = -1873550. Nmm
LX=(1) b2 vEI dx = [ x] b7 1/E3 ¥p= 18.mm
=(b) b2 UEJ = bYEI \L:mf é:lemr;nm
b mo
%= [0(1) b2 vEI ax = [ x ] b 1/E9 ’ s Op = -Mv1J, = -239.7 Nimm"
15 = 24.
=(b)b*1/EJ = bYEJ X, mm
. y.= 15.mm
L% = [°(1 2 xb +x6° ) b2 VEI dx = [ x - xb +1/3 %% | b 1/ES V= -20.6 mm
° ° o = -Mv/J, = -138.7 N/mm’
=(b-b+13b) b2 VEI = 1/3 bEJ O "
R Jo T, = 10.71 N/mm
L= [ (5m? ) b? 1EI dx = [1/3 b2 ] b 1/E . . . 0, =Vo'+31" = 139.9 N/mm”
mm = & ‘? X & S’ = 5057. mm®

=(1/3b) b* 1/EJ = 1/3 bYEJ

1% = [2(-v2 ¥6° ) Fo? 13 dx = [-1/8 x'1b° ] Fb? 1/E3
=(-1/8b) Fb®> 1/EJ =-1/8 Fb*/EJ

LY = jz(-l/z +3/2 x/b -3/2 X’Ib” +1/2 X’Ib> ) Fb® 1/EJ dx
= [-172 x +3/4 X1 -112 X162 +1/8 X'16° ]| Fbo? 1/E3
=(-1/2b+3/4b-1/2b +1/8 b ) Fb® 1/EJ =-1/8 Fb’/EJ

L= (-v2-12x0 ) o wEI dx + [[(1) 8 ax=[-1/2x-1/4 b ] Fo? 1/E3 + [ x]
=(-12b-14b) Fo* 1/E3 + (b ) 6 =1/4 Fb%EJ

0= (-1+12xb) Fo? VBT dx + [[(-1) @ dx=[-x+1/4x%b ]  Fo? 1EI +[-x]
=(-b+1/4b)Fo’ 1/EJ +(-b) 6 =1/4 FbYED

120 = [2(-1 +2 xtb - X2b? ) Fb? 1/ED dx = [- x + X% -1/3 /% ] Fb? 1/
=(-b+b-1/3b) Fb? 1/EJ =-1/3 Fb%/EJ

10 = ['(-»0? ) Fb? 1/ED dx = [-1/3 X2 ]| Fbo? 1/E3
=(-1/3b) Fb* 1/EJ =-1/3 FbYEJ
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Om

b -53
%= (502 ) b7 1/E3 dx = [113 xp* | b? 1/ES A= 1032. mm’
; , J,= 260495, mm
=(1/3b) b* VEI = 13 bY/EJ b J,= 107424. mm"*
L% =[(1 -2 xb + xb* ) b* VEI dx = [ x - b +1/3 x°/b? ] b? 1/E3 »| e - Yy = 18.44 mm
=(b-b+1/3b)b? VEJ = 1/3 bYEI 00
b N M, =-1582000. Nmm
LX=(1) b2 vEI dx = [ x] b7 1/E3 ’ Xp = 30.mm
=(b) b’ 1/EI = bYEJ y,,= 53.mm
b u,= 6.mm
L¥=[(1) b2 vEI dx = [ x ] b? 1/ED . Vi = 34.56 mm ,
=-MviJ, = 209.9 N/
=(b)b*1/EJ = bYEJ Op = -MVAJ, mm
. X, = 24.mm
L = f’ (2-2x/b+xb?) b” UEJ dx = [ x - b +1/3 X/ ] b? 1/EI 1 y.= 38 mm
= 19.56 mm
=(b-b+1 > 1/EJ = 1/3 bJE Ve
(b-b+1/3b)b° VEI =1/3 b/bJ 0, =-Mv/J, = 118.8 N/mm’
L= [0(50? ) b2 1E dx = [1/3 x%b° ] b2 1/E Jo T,= 12.32 N/mm’
; ’ = Vo®+31° = 120.7 NImm’
- 2 - 3 o, = = .
=(13b) b? VEJ = 1/3 bYEI mm o 2 8 x ¥ S’ = 4870, mm’

o= fi(a) o ax=[-x]0

=(-b) 6 =- Fb¥EJ

= [(1)e ax=[x] e

=(b)e =- FbYEJ
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Om

b 52
%= (502 ) b7 1/E3 dx = [113 xp* | b? 1/ES A= 492. mm’
J, = 133716. mm*
=(a 21/E) =13 bYE ’
(113b) b* 1/E3 = 1/3 bYEJ b J,= 31716. mm*
L% =[(1 -2 xb + xb* ) b* VEI dx = [ x - b +1/3 x°/b? ] b? 1/E3 > ot Yo = 17.4mm
37 T,=-3630. N
=(b-b+1/3b) b’ EI = 1/3 bYEJ y
( ) b BN M, = -925650. Nmm
LX=(1) b2 vEI dx = [ x] b7 1/E3 , Xp = 24.mm
= 52
=(b) b’ 1EJ = bYEJ Ym= 52.mm
b u,= 3. mm
L¥=[(1) b2 vEI dx = [ x ] b? 1/ED . V= 34.6mm
_ 2 3 o, =-Mv/J, = 239.5 N/mm’
=(b) b’ VEI = bYEJ b x,= 21.mm
%= (1 -2 x1b + X262 ) b2 VES dx = [ x- b +1/3 xb* | b? 1/E Ye= 37.mm
= 19.6 mm
=(b-b+1 21/E) =13 bYE Is Ve
(b-b+1/3b)b° VEI =1/3 b/bJ 0, =-Mv/J, = 135.7 Nimm’
L= [ (5m? ) b? 1EI dx = [1/3 b2 ] b 1/E Jo T, = 11.03 N/mm’
2 2 2
- 2 - 3 N 0,=Vo +31" = 137.N/mm
=(1/3b) b* 1/EJ = 1/3 bYEJ mm ° 2 '3 x g S = 2439 mm®

o= fa) o =[]0

=(b)6 = Fb¥EJ

0= [(1)e ax=[-x] e

=(-b)6 = Fb’EJ
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%= ) v dx = [13 2]} VED
=(1/3b) 1/EJ = 1/3 b/EJ

L% =[2(1-2xb +xb* ) VEIdx=[ x-xb +1/3 %] 1/E3
=(b-b+1/3b) 1/EJ = 1/3 b/EJ

LX=1(1) vesax=[x]. Ve
=(b) 1EJ = b/EJ

LX=[(1) vEIax=[x]. vEI
=(b) 1/EJ = b/EJ

%= (1-2xb +xb?) VEI dx = [ x-xb +1/3 b2 ]} V/EI
=(b-b+1/3b) 1/EJ = 1/3 b/EJ

L= [(5m?) 1EI dx = [13 2] 1ES
=(1/3b) 1/EJ = 1/3 b/EJ

1% = [2(312 X¥10% -1/2 x1b™ ) Fb VEJ dx = [1/2 5% -1/8 x1b° | Fb 1/E3
=(1/2b-1/8b) Fb 1/EJ = 3/8 Fb’/EJ

1% = [7(1-3/2 xib +1/2 X*6° ) Fb VE dx = [ x -3/4 xb +1/8 x1b° ] Fb 1/E3
=(b-3/4b+1/8b) Fb 1/EJ = 3/8 Fb’/EJ

L =0(1-xb) FoUEIax+ [[(1) 6 dx=[x-12x%b ] FovEI +[x] 8
=(b-12b)Fb/EJ +(b) 6 =32 FHY/EJ

2= (xb)FouEIdx+ (1) 0 dx=[12xm ] Fo1EI +[-x] 6
=(12b)Fob1/Ed +(-b) 6 =32 FbYED

122 = [(-1/2 b + X216 -1/2 516 ) Fb UE dx = [-1/4 X¥1b +1/3 x¥/b? -1/8 x'1b° . Fb 1/E3
=(-1/4b+1/3b-1/8b ) Fb 1/EJ =-1/24 Fb/EJ

10 = ['(-172 X262 +1/2 X¥16° ) Fb 1/ED dx = [-1/6 x°/b? +1/8 x'1b° ] Fb 1/EJ
=(-1/6 b +1/8 b ) Fb 1/EJ =-1/24 Fb’/EJ
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124
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A= 936. mm’
J, = 274232. mm’
J, = 49248. mm*

Yy = 21.65 mm

N =-3229. N
T,=-1614.N

M, = 1805000. Nmm
X, = 24.mm

Yn= 56.mm

u,= 6.mm

vV, = 34.35mm

o, = N/A-Mv/J, = -229.5 N/mm’
X, = 18. mm

y.= 41l.mm

V.= 19.35mm

o, = NIA-Mv/J,, = -130.8 N/mm®
T, = 2.371 N/mm’

g, =Vo’+31° = 130.9 N/mm’
S’ = 4832. mm®
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